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NA—65—2024
FACULTY OF COMMERCE
B.Com. (Second Year) (Fourth Semester) EXAMINATION
APRIL/MAY, 2024
ADV. COST ACCOUNTING

Paper—(BC 4.2)

(Friday, 12-04-2024) Time : 2.00 p.m. to 5.00 p.m.
Time—3 Hours Maximum Marks—175
N.B. :— () Question 1 is compulsory:

(1) Simple calculator is allowed.

G WA F 1 AEE T
(i) HI® TR WA SR
1. The Shree Constructions Ltd., having an authorised capital of ¥ 1,00,000 divided
into 1000 ordinary shares of ¥ 100 each, commenced operations on 1st April,
2021 and during the period was engaged in a contract. The contract price
was T 4,00,000. The trial balance extracted from their books on 31st March,

2022 stood as follows : 20

P.T.O.
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(2)

Trial Balance

NA—65—2024

Particulars Dr Cr
Share capital 80% paid up 80,000
Sundry creditors 28,000
Land & Building 44,000
Cash at Bank 19,000
Charged to contract :

Materials 1,00,000

Wages 75,000

Expenses 10,000

Plant 20,000

Cash received

(being 80% of work certified) 1,60,000

2,68,000 2,68,000

Of the plant and materials charged to the contract, plant costing ¥ 3,000 and

material costing I 2,400 were destroyed by fire.

On 31st March, 2022, plant which cost ¥ 4,000 was returned to store, the value

of material at site was ¥ 3,000 and uncertified work was ¥ 2,000.

Charge 10% depreciation on plant.

Prepare the Contract Account for the period and Balance Sheet as on

31st March, 2022.
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( 3) NA—65—2024
#ft gy fa., 9 sifaga aread € 1,00,000 3TA @ T 1000 FHRT 9T Yk
100 Aamed f99mTerdl 318, 1 T, 2021 TSt A1 3= H gE hal. S HeH

¥ 4,00,000 B

31 W, 2022 TS FUUFET Fuiel Glen Y1 Teld FH ST

oteT-gE

st e %, S| 6,
I wiead 80% aga 80,000
fafae emeht 28,000
Qi'l:ﬁ 9 THRA 44,000
SR T 19,000
SHITER TR

TR 1,00,000

Bl 75,000

= 10,000

LR 20,000

W EeRd

(IO = 80%) 1,60,000

2,68,000 2,68,000
P.T.O.
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( 4 ) NA—65—2024

SFIER Urefaeiedt TIF 9 Wittt §IF ¥ 3,000 9 WMt T 2,400 <t WfHed T
areh.

31 979, 2022 TSH T 4,000 AT FIF YISRUEH WA Y3, SFIER Tl A
qed T 3,000 o7fUr syifva & € 2,000 =

TIAER 10% SAATIUMTET SRR .
SHT G IR U S 31 "™, 2022 Usiw Reordi-foawur @R S

The product of a company passes through three distinct processes known as

‘A’, ‘B’ and ‘C’. From the following information prepare process accounts : 15

Process
Items ‘A’ ‘B’ ‘«C’ Total
Material 2,600 2,000 1,025 5,625
Labour 2,250 3,680 1,400 7,330
Overheads - - - 7,330

500 units are issued to process ‘A’ @ Rs. 4 per unit. Overheads are to be charged

at 100% on labour :

Process Actual Normal Scrap value
output wastage per unit

A 450 10% 2

B 340 20% 4

C 270 25% 5
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( 5 ) NA—65—2024
gHSed 3cared ‘', (& S ‘R A A el WishAqd S @eiiel Ao

gfsham @t 9IRS :

qferam
m ] 31. 1] ¢ a. 12 IEY w
Hifecd 2,600 2,000 1,025 5,625
5 2,250 3,680 1,400 7,330
srfafted - > 3 7,330

gfgrar ‘S1’ 9t Ut AT 4 % FHO 500 A URfavar efel. SAfdRed =w s

100% 3shRUATT ATl ¢

YfeRar et WA YR Hed
o YT Yt T
‘o1’ 450 10% 2
‘q° 340 20% 4
‘o’ 270 25% 5
Or
(feram)

Supriya Chemical Co. Ltd. produced three chemicals during the month of Dec.
2022 by three consecutive processes. In each process 3% of total weight is
lost and 9% is scrap, which from process I and II realizes Rs. 100 tons and
from process III Rs. 20 tons. The products of the three proceses are dealt with
as follows :

P.T.O.
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( 6 ) NA—65—2024

Process

Particulars I I1 II1
Passed to the next process 75% 50% -
Sent to warehouse for sales 25% 50% 100%
Raw materials incurred (in tons) 1000 140 1348
Value of raw material 1,20,000 28,000 1,07,840
Manufacturing wages 20,500 18,520 15,000
General expenses 10,300 7,240 3,100

g Siehed & fd. 7 fedar 2022 7% waw fod uferdgR WA i el
T Ufshad TRl IS 3% AT ShHl Bl S0 9% R 3% a1 Wihar 1 a7
II A4 100 & Tadl 29 3ffor 20 . Hor @4 Yishan 11 AyA fHesdw.

T fRadial ScIeT EelaTgH o BldTedell ST,

feRan
qufsTe I II III
eId Gishadrel diefadt 75% 50% -
forsh TSl Mg TG rafact 25% 50% 100%
Fedl 7T () 1000 140 1348
e HIeT™ Hed 1,20,000 28,000 1,07,840
ERICE RS 20,500 18,520 15,000
TR T 10,300 7,240 3,100

X302Y 76D6C6X302Y 76D6C6X302Y 76D6C6X302Y 76D6C6



7)) NA—65—2024

The Rajesh Transport Company gives the following information in respect

of a truck of 5 tonnes capacity : 15
4

Cost of Truck 15,00,000

Estimated Life 10 years

Diesel and oil

Repairs & Maintenance

Driver’s wages

Insurance

Cleaner’s wages

1,200 per trip each way

4,000 per month

12,000 per month

7,500 per annum

5,000 per month

Tax 2,500 per annum

Supervision charges 5,000 per annum

The truck carries goods ‘to’ and ‘fro’ the city covering a distance of 50 km
each way. On onward trip freight is available to the extent of full capacity
and on returning 20% of the capacity. The truck runs on an average 25 days

in a month. Find out operating cost per ton km.

P.T.O.
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( 8) NA—65—2024
& T TR UM 5 2F ATEA §THAT ST Tkl I Tt @refta Aifedt faetett
R e

2
Hd qeH 15,00,000
SIATA 3T 10 =8
fega 9 @iga 1,200 Wt =rg-wedt =t
ORI & ROTr 4,000 Tt WIE
EIGEACTEE LY 12,000 wdl 918
form 7,500 TT oSl
[ESRICIRE ] 5,000 Tdl A8
Ty 2,500 Tt I
THAEI I 5,000 wdr sl

& 2o ue =Wl 50 ffl Taumed vt grar=t ‘A 3T’ A, ST ared &THad
qof e Wi fHad T qdr= gedl amed aae 20% wie fHerd. & 7o Afgme
TR 25 a9 <.

T TRl ated foratiex 9i=mem afera mfgd 3.
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( 9) NA—65—2024
Or
(feram)
From the following data relating two different vehicles ‘A’ and ‘B’ compute

cost per running mile :

Vehicles
A? B’
Mileage run (annual) miles 30,000 12,000
Cost of vehicle 350,000 30,000
Road Licence (annual) 31,500 1,500
Insurance (annual) 31,400 800
Garage rent (annual) 31,200 1,000
Supervision salary (annual) 32,400 2,400
Driver’s wages per hour 36 6
Cost of fuel per: litre %6 6
Miles run per litre (miles) 40 30
Repairs and maintenance per mile %3.30 4.00
Tyre allocation per mile %1.60 1.20
Estimated life of vehicles (miles) 1,00,000 75,000

Charge interest at 5% per annum on cost of vehicles. The vehicles run 20

miles per hour on an average.

P.T.O.
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( 10 ) NA—65—2024
WTelta Aifgdr ‘31’ onfor ‘s A1 S el ARAEe ] 3. AeEd Uoidh dIgAT
ufa ¥ afte™ wer

qre
g -
et Tt (=) 30,000 12,000
AT IR Hed %. 50,000 30,000
Heeh T (afen) %. 1,500 1,500
fem (anfren) . 1,400 800
M e (AfeeR) %. 1,200 1,000
qHa &Rt o (STfereR ) %. 2,400 2,400
FTeTeRTd Aa Ui ar %. 6 6
ufa forex Zemmn ' %. 6 6
Teh fefet 9 g (Be) %. 40 30
T 401 g g et . 3.30 4.00
gfd el TR T %. 1.60 1.20
AT TSI T (HeT) 1,00,000 75,000

T RS AER 5% FH &S 3TN, Y dled aUedl Tl I 20 Ha
A .
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( 11 ) NA—65—2024
From the following information prepare a Reconciliation Statement :
Particulars Cost Financial
Account Account
Net profit 85,600 82,050
Opening stock 18,300 20,500
Closing stock 27,400 25,800
Overheads 37,500 36,250
Depreciation 5,600 6,000
Loss on sale of investment - 1,000
Dividend received - 4,200
Goodwill written off - 3,000
Transfer fees received - 1,200
Preliminary expenses written off - 2,000
T HIfgdiere S[esavil Ysleh qa il :
ST e fasig
N o
Heeres T 85,600 82,050
YR The 18,300 20,500
S @R 27,400 25,800
ey 37,500 36,250
ESIR| 5,600 6,000
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( 12 ) NA—65—2024

fafarmen fagtada gt \ 1,000
T AT - 4,200
LG R BISICR] - 3,000
T ST Y[eeh - 1,200
YR S STICTeH » 2,000
Or
(feram)

The net profit of manufacturing concern for the year ended 31-03-1999 was
Rs. 2,57,510 as shown by the financial accounts. The cost account discloses
a profit of Rs. 3,44,800 for the same period. On an examination of the both

of the sets of accounts the following facts were discovered :

Work oncost under recorded by Cost A/c 6,240
Office oncost over recorded by Cost Alc 3,400
Depreciation charged by Financial A/c 22,400
Depreciation recorded by cost account 25,000
Interest on investment not included in cost account 16,000
Obsolescence loss charged by financial account 11,400
Income tax paid 80,600
Bank interest & dividend received 2,450
Loss due to accident in Financial Account 13,500

Prepare a statement of reconciliation.
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WI ( 13 ) NA—65—2024
31-03-1999 Tl FociedT THIEE ScaG &= MY TIgR Seifaeien fHeges T
T 2,57,510 TIH 3MR. R I HIAGHS! TRE F@ihgR ceifactell Hede TH
B 3,44,800 TUY 3E. A U=l WA T9 TUEUEA el qed e 3Tel ¢

4
I W s Algiacel s SAfaer 6,240
IeTd W S Algiaeal sed iy 3,400
a7feer @eara SRRl SHN 22 400
IReTg WA Aigfaeiel S9N 25,000
e @edid FASE F shefel fafammeiiel =ams 16,000
s W TR T ATIUe T 11,400
feael e = 80,600
T R A 9 e 2,450
& Bk IR TEATHS SATele] Feh I 13,500
T3l IoTeh/HATHM foeul Tar 9.
5. Write short notes on any two : 10

() Rights of Cost Auditor

(@) Abnormal loss

(@11)  Weork uncertified

(tv)  Different bases of Stock valuation.
FIAR SFeR dieE fea fomr .

() o uead et RN

(i) ~ SEERO B

(i) YA

(v) Y Geaea fa= enER.
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